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Select and write the cotrect aption from the options gaven

i each ;]l.lﬂ‘:?l'.iﬂﬂ i

()  Which is used #s & voltage regulator ?

(h)

(=]

(d)

(€)

()

*°3

(iy  Transformer

(iiiy Zener diode

‘The Ohmic resistanee is
(1) Transiswor

(iii) Light emitting dipde

The focd) length of eye in compound microscope

focal length of the objective.
(ty s less than

(iii) is equal

(ii)

{iv)

(i1)

{iv)

(i)

(iv)

Transisior

Mhotodiode

(Copper wire

Junction diode

the

18 mare 1han

None of these

The mimmum charge on a proton is -

(iy 1.6 = l05C

(il L6 « W' ¢

(i)

(V)

1o = 10 W

6,02 = 10° ¢

Ihe self inductance of coil does not depend on :

(i) the length of coil

(iii) ithe radius of coil

(i)

tiv)

the current on the coil

the number of tums. of coil

The trunsformer is based on the principle

(1) Self Induction

(iii) Electromagnetic waves

(ii)

{1v)

Mutua! [nduction

None of the above |

Electromagnetic waves are produced by ;

(1) an accelerated charge

(it) & static charge

(i) moving a charge with uniform velocity

(1v) & eurrent carrying conductor
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(V) T & ST A W1 gee o w it

210

w7 ¥ O
(V) NAND #z @ gftem = k| g
(Vi) =TETer @ A Rard Eﬁli'[wrm ¥ A
(i) Fomn W A s @ b 2 N ¥
Fill in the blanks :
(il The maximum frequency wave in eleciromagnctic waves is
(i) The behavior of Solenoid fike ns
{iii) Meter bridge is based on the principle of

<t

(iv) An air bubble inside water behaves like us _ feps j:
(v) The Boolean expression of NAND gate s :‘-I
(vi) The causes of bloe colour of sky is —
(vit) The voltmeter is always connected in  in an electric

‘ciretnt.
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Sy g @ FEY (b) Fa
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o y I - i — 1.4.._.
(vl T diee [« uy \ .,re
sty SO (ed ML
vi) sl iy e
Avii T wme fg) = A WA A
(hy Tawa s & 9%
L (i} @ w0 gE -
- i) T wm I {
Match the column YA with column "B" : _ !
Column "' A" Colummn "B I
.——.1 L) : I
i Magnifving power of Compound uy | 1 T '

03 L] .!

-q1 .DH‘:TFI'M'I."W

M) Drewesier's Law {by Hene !
(i) Infrared Radistions (€]  Elecromugnetic induction § |
|
. < _-vll L:. l
fivi  Eleoron - Vol y — | I+=
- iy A fr |
1Y) Dynamo (&) VI
AV Ammeter if)  Hershil

_._.{\.-ui_n Flectrical power (8) Instrument of MERSUring Curment

(h) Instrumcent of mensuning potentigl

(1] I..lllﬂl[ﬂllﬂu il Il__h'l"
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Hig Wﬁ 15"! ST G B a9E W ¢ 7

(Vi) e WEER #) aufeafy &7 fawa g wn wwa gea B 7

(vii) AT G PR e e e 8 7

Write the answers in one senterice euch -

) How does focal length o;t_‘lftcns depends the power of lens 7

(i) Which gate 15 known ax mversion gate ?

(i) On which theory, Lenzs law is based 7

Ov) What' is threshold frequency 7

| {v) How can incréase the magnification power of Astronomical 1elescope 7
(vi) What is the effect of insulated medium on the potential ?

tvin) What is the reason for origin of Displacement current

5 am w FEm w2 A e 2
Write any twe lmitations of Ohm's law.
S [ OR

frrems w1 awe @ Frawm fan )

Write Kirchofl's Volage law

6 Tt AW e WA E 7 2
What is Lorentz force ?
sum [ OR
s gt W areiE A |

r Define one Anipere.
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7w qrrEAm WIEH E YR wp e ¥, ﬂ'mﬁﬂ’r W 9 I i
The polarising angle of u trunsparent mwiedium 18 300, Caleulate the angle off
swE J OR

T e %'W-iﬁﬁtm;ﬁz‘(t |y = AOEE 4538 A
oy P e @1 O wiAd |

[he diameter of objectve lons of a Telescope is | meter Calculate its resolVing

: 0
power for the light of wavelength 4538 A

8 mmm--mwmmmmmﬁf@n |
Write Formay's second law of electromagnetic induction.
s OR
T T s e § s i (@ ) "

Differentiate between Seli’ Induction and Mutug! Tndugrion (any ©Wo)

9 'mﬁmfmwmiﬁmmgﬁw#mhqam

C e ol 1 L ax
Show' that the electric fux passing through & surface parallel w the electrie I r

feld 15 Zens

s /L OR

farell AT AT % e fage @9 vl fama fawe W ww A |

Desenibe the electric field and electric potential inside the charged conductor
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1wt ® feEs ot o e b, w ?
Pl danger signal is nlwoys eed, wiy

ag / OR F

faell wmam @ AT, WY N wrrE e [GR RO AL v 7 [ﬂ‘ﬁﬁ 71) o

Uy wlinl Thetors, disdy |I|.:. refimetive fndex of o medium depend 7 Gmy twor

vy
N o fevm B s 87 -
Wit s stopping potentinl 7 1—_||

gn /O

vt & wid A oo faft o

Wrile any two charpeteristios o malter woves, o)
=1}
12 NAND 2 &) 7w grel waeg e s |
Diriw: the tenth table of NAND gate and explain it F
s | OR ]
NSmTT T P W srdae W st fefam o (@ @) 2

Write the diflerences between Netype and P<type semiconductors. (any hva)

13 fath fom ofteg % wfadio R, 7 R, wikR @ o @ oem ot B O
=

R E A8

i gt R o= —t =)
qﬁ Wi RI +,H: I_J

Inan electrical circit. resistances Ry amd R, are combingd in parallel, .j

then prove that the eqguivalent resistance is H;-t; = Mf_
R+ R, o
aam / OR —

ford i % foge awes ww, fvmr ofvy aitafr wbr ¥ mersn i,

i
-
h
a

Hifaa | :

—

Establish the relation among electromotive foree, patential diflerence -"“’Ir;

internal resistance of a cell,
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|
Write differences between Simple Mims?fc and Astronomical Telescope:
fany three) ' -
s/ OR
ERC e U e e e A e @ W WEE T
Fsfm e & -

& b -’

T > :
S

Wi [, fi WA B wes g E

Combine two thin convex lens be mutual contact. then prove that the focal

length of combme lens

o
F:—;fié—_.. -‘._J'_'I
j;—i-fé |'__',

whereas, f; and f, are the focal length—Tor it
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af srafives gt & w0 s 8000 ¥, A fies oA

B & am #ifim
A step-down fritnsformer chunges the rransmined line volinge iﬁ?’ : gy
10 44“ VDII,. crhc n“mbc-f of lu'msin |I'|.ﬂ' pﬁlﬂﬁr}' I:’l!“ h ql__llﬁ}i 'L“',' "ﬂ.": l'lllt'l'!l'?t'r
of urng i the secondury. eoil
s/ OR n
S g— o @ 100
MmmmmmwMW‘T’"“‘m
TR HEE = oW e S '
Caleylage the: energy. stored in & cofil of indiictance 100 Hemry due o Mow
Of current 4 Ampere iy, i 4
17 # zH W F 7 OR, AND § NOR T % o omaE, wEeE osoR 4
ud Ffmum g fafan
What is meunt by logic gutes ¥ Write Symbol. Boolean Formiibe and Truth
whle tor OR. AND and NOR LALes,
s /[ OR
P-N#f2 sz v § 7 T w5 suAtHARS & vy A feer wewre i G
TR ® 7 EwEET |
What'is P-N junction diode 7 How does diode used us u forwird bins T Expluine
18 Huifrs wea £ mmmnﬁammtsﬁqmm S
Whatt 15 » c::puciu'-r"' Establish an expression for l]ud'ufag Capacitance of the
piralle]l plste capacilr
[ OR
o faua fow = B 7 A ﬁ@ﬁﬁm'fmﬂﬂqahaﬁﬁq
il ; - AR
& o sorE WTa At
=
What is an elecine dipole 7 stablis expresiug i
I w18 an elecine dipole #blish an expression tor ﬁndmg electric field

imtensity of sn eleetnic dipole o equantorial position
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(5) wETE i

Pescribe the following points in an L-C-R cirewt -

) Eleetrical . cireait (21 Phusor aingm:u
Resultant voltage (41 Inipedance
Phase difference

N
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